1. With fracture of the calcaneum, one should suspect
a. Fracture of the tibia

b. Fracture of the femoral neck

c. Fracture of the pelvis

d. Compression fracture of the spine

e. All of the above

2. “Dinner fork deformity” in Colles fracture is caused by

a. direct impact forces

b. pull of the brachio-radialis muscle

c. bone loss associated with osteoporosis

d. dislocated inferior radio-ulnar joint

e. all of the above

3. What is the best treatment for an oblique tibial shaft fracture which has redisplaced after initial good closed reduction and plaster immobilisation?

a. Wedging of plaster

b. Remanipulation and plaster

c. Open reduction and internal fixation

d. Skeletal traction

e. Cast bracing

4. Which bone is formed via membranous ossification?

a. Humerus

b. Vertebra

c. Patella

d. Scaphoid

e. Clavicle

5. Highest value of serum alkaline phosphatase occurs in

a. Rickets

b. Osteoporosis

c. Hyperparathyroidism

d. Paget’s disease

e. Hypophosphatasia

6. A tufting of distal phalanx is characteristic radiological finding of

a. Hyperparathyroidism

b. Gout

c. Psoriatic arthroplasty

d. Osteoarthritis

e. Hypoparathyroidism

7. Even after adequate treatment which type of nerve injury has the worst prognosis?

a. Neuropraxia

b. Axonotmesis

c. Neurotmesis

d. Traction injury

e. Entrapment injury

8. Which of the following is not seen in fat embolism?

a. Altered mental state

b. Petechial haemorrhages

c. Bradycardia

d. Hypotension

e. Tachypnoea

9. After a successful pinning of a hip fracture, a 60 year old grandmother complains on the 7th post-operative day of leg pain.  You think that you should examine her further for the one most likely complication

a. Missed fracture of the fibula

b. Deep venous thrombosis

c. Anterior compartment syndrome

d. Peripheral arterial occlusive disease

e. Cellulitis

10. Common causes of a stiff deformed and painful joint are all the following except

a. TB arthritis

b. Rheumatoid arthritis

c. Osteoarthritis

d. Old suppurative arthritis

e. Charcot’s disease

11. Earliest bone destruction in rheumatoid arthritis occurs at

a. Diaphysis

b. Metaphysic

c. Subchondral bone

d. Periarticular bone

e. Articular cartilage

12. A 26 year old man has a swelling in the lower radius.  X-ray shows a very translucent faintly loculated lesion expanding the end of the bone, abutting against the articular surface and lined with a thin cortex without periosteal reaction.  You think this can most likely be

a. Simple bone cyst

b. Osteogenic sarcoma

c. Giant cell tumour of bone

d. Chondrosarcoma

e. Fibrous dysplasia

13. The commonest soft tissue malignant tumour is

a. Liposarcoma

b. Fibromatosis

c. Fibrosarcoma

d. Malignant synovioma

e. None of the above

14. Ewing’s tumour can be confused with osteomyelitis due to the presence of

a. Swelling

b. Diaphyseal location

c. Periosteal new bone formation

d. Exploration reveals liquefied material like pus

e. All of the above

15. The knee joint is swollen two hours after an injury.  The most likely cause is:

a. Meniscal injury

b. Synovial swelling

c. Osteochondral fracture

d. Anterior cruciate ligament injury

e. All of the above

16. The most commonly injured ligament in the ankle joint is

a. Deltoid ligament

b. Posterior tibio-fibular ligament

c. Anterior talo-fibular ligament

d. Calcaneo-fibular ligament

e. Posterior talo-fibular ligament

17. Following common peroneal nerve palsy the following physical signs will be present

a. Inability to flex and extend the big toe

b. Anaesthesia of the toes

c. Inability to walk on the toes

d. All of the above

e. None of the above

18. Which of the following is true about acute rupture of tendo-calcaneus (tendo-achilles)?

a. It occurs due to direct injury

b. Radiograph will confirm the diagnosis

c. Compression of calf muscles produces plantarflexion of ankle

d. It usually occurs in middle aged persons

e. Surgical repair is unnecessary

19. When only the middle slip of the extensor tendon is cut there is

a. No deformity

b. Swan-neck deformity

c. Button-hole deformity (boutonniere)

d. Mallet finger deformity

e. Inability to extend the finger at the metacarpophalangeal joint

20. Palsy of the anterior interosseous nerve will give rise to

a. Claw hand

b. Wrist drop

c. Finger drop

d. Pointing index finger

e. None of the above

21. Following microsurgical attachment of the thumb, spasm and thrombosis of the anastomosis may be induced by the following except

a. Smoking

b. Drinking

c. Severe pain

d. Cold air-conditioned ward environment

e. None of the above

22. Actively growing cartilage cells at the end of a long bone are in the

a. Metaphyseal end of the epiphyseal plate

b. Epiphyseal end of the epiphyseal plate

c. Middle of the epiphyseal plate

d. Whole thickness of the epiphyseal plate

e. Metaphysis itself

23. Which of the following statements is false

a. The joint space in children is much wider than in adult

b. In Perthes disease the joint space is widened

c. In adult widening of the joint space signifies effusion

d. Narrowing of joint space in adult means cartilage loss

e. None of the above

24. Multiple neurofibromatosis may be associated with the following skeletal lesion
a. Disturbance if bone growth

b. Anomalies of bone architecture

c. Pseudoarthrosis of tibia

d. Scoliosis

e. All of the above

25. Commonest cause of gunstock deformity

a. Malunion of a supracondylar fracture

b. Fracture lateral condyle

c. Fracture medial condyle

d. Olecranon fracture

e. None of the above

26. Bone fragment in lateral condyle of humerus fractures includes

a. Lateral epicondyle only

b. Lateral epicondyle and capitulum

c. Lateral epicondyle, capitulum and lateral part of trochlea

d. Lateral epicondyle, capitulum and whole of trochlea

e. Lateral epicondyle, capitulum, lateral part of trochlea and metaphysis of humerus

27. What is a pulled elbow?

a. A variety of acute osteomyelitis

b. Subluxation of elbow joint

c. Consequence of radial neck fracture

d. Subluxation of head of radius

e. Fracture of medial epicondyle of humerus

28. All the movements of shoulder joint are limited in 

a. Painful arc syndrome

b. Acute calcification of shoulder joint

c. Adhesive capsulitis

d. Supraspinatus tendinitis

e. All of the above

29. The commonest dislocation of the shoulder is

a. Anterior

b. Posterior

c. Inferior

d. Intrathoracic

e. None of the above

30. Volkmann’s ischaemic contracture of the forearm is commonly the result of vascular injury following an

a. Old lateral condyle fracture of the humerus

b. Old supracondylar fracture of the humerus

c. Old dislocated elbow

d. Old fracture neck of humerus

e. Old dislocation of the shoulder

31. Loss of triceps jerk is indicative of damage to which cervical root?

a. Third

b. Sixth

c. Eight

d. Seventh

e. Fifth

32. One of the features is not true of a prolapsed intervertebral disc

a. It commonly occurs at L4-5 and L5-S1

b. The affected disc has undergone degenerative changes prior to the prolapse

c. Central prolapse can occur but is harmless

d. Posterolateral protrusion is the commonest and causes root irritation

e. More than one disc may be prolapsed

33. A 45 year old painter complains of pain near the vertebral boder of the scapula with radiation to the left upper limb.  The most likely cause of the condition is

a. Coronary artery disease

b. Cancer of the lung

c. Cervical spondylosis

d. Chronic strain of the levator scapulae and rhomboid muscle

e. Cervical rib

34. The commonest site of injury to the thoracic spine is

a. At the upper thoracic vertebrae

b. At the middle thoracic vertebrae

c. At the lower thoracic vertebrae

d. At the thoracolumbar junction

e. Anywhere in the thoracic spine

35. In spinal tuberculosis, infection usually starts in

a. Disc material

b. On the anterior surface of vertebral body

c. In the centre of vertebral body

d. In area of vertebral body adjoining the disc

e. In posterior elements of vertebra

